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[ Maximum Marks : 70

Sifleyenrast : (1) <ioarsg amés@pn sflurs Lgaurd o @raTgT 66U seman
sflurrégs Garareralb. Fsuudale GopulGula imps
saEmsTemlureTfLD o L anguirss Cgflailésab.

2) Beowd @i@g s ewwimarn LRGD er(pgIeIEHEG LWELHSS

Gouam@Ld. LILEISET euanpeusn@id, DigsGamyHeugn@h lueméle

LT (S S e LD.

Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)
(2)

L@l - I/ PART -1
Semensg lamés@rs@n eflanl wall&EsaL. 15x1=15
Qesr@ésiul_(erer wrHm eloLseie Wse|b ghymLw
AerLenws Csrp0sDsed GOl Hrear eleoLuimeanb Ceisg)
GT(HSALD.
Note: (i Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. GprGLmenudl -ar Cadlliy Gummer .
(=) Urpreowerar ' ! (<) omblarfer srai
(Q) swCerms.eudlwar SFeD (7) yGermiliqwien sreib
The reserved food of Rhodophyceae is

(a) Paramylon (b) Laminarin starch

(c) Cyanophycean starch (d) Floridean starch

2. G spndlude mevpuyd gaibair CO, POEEMEEHEGL CaaneuliLpid ATP
oMb NADPH erawrenfléens :

(<1) 3 ATP + 3 NADPH (<) 2 ATP + 2 NADPH

(8)-2 ATP + 3 NADPH () 3 ATP + 2 NADPH

For every CO, molecule entering the C; cycle, the number of ATP and NADPH required :
(@) 3 ATP + 3 NADPH (b)) 2 ATP + 2 NADPH

() 2ATP + 3 NADPH (d) 3 ATP + 2 NADPH

3. 20wfss Ue&CesrurCierigrer wrsden ouwg TOESTLY

QL @T(H&ET B GLD.

(<) 2500 (%) 4500 (@) 5500 (rF) 3500
The age of American Sequoiadendron tree is about years.

(a) 2500 (b) 4500 " . (¢) . 5500 (d) 3500

4. L Qedsellar Lafllad GIESTH|D WHIYLD MLLLT g8 QFduELliy
QmBETRID s Qaeusmar GupBlBrudaema :
(=) safisrisar (<=,) Qermeviom Seuay
(@) eal GLmevGlaeadl L e (FF) el GLraramrg Awir
Many cells function properly and divide mitotically even though they do not have :
(a) Plastids (b) Plasma membrane
(c) Cytoskeleton - (d) Mitochondria
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5.  aupssionss gL séms addlmps surfsstiu@dng ?

(1) aurevges Cablwid (<) o=@Udeib
(8) ~-QuaGarQger (F) engeLd
The common bottle cork is a product of : .
(@)  Vascular cambium (b) Phellem
()  Phellogen (d) Xylem
6. __ “7ib NEHD AwpE arEdsdr ereann SiepSaILBEDG.
(1) Slirga (<p) Sanmhlwid
 (8) eapusGCsmgid () @mﬁLqﬁmn®Lﬁ
is called ‘Raceme of Cymes’.
(@) Thyrsus (b) Coenanthium
(c) Hypanthodium (d) Verticillaster

7.  Belusd urdlaCetrh Qaryemw sflurer sabhmy erg ?
(1) oo Carmiliquwian sran sraliuhng
(<) B&TUSHETAT 2 MILILISET G)eana
(@) Cedgeufldy GedgiGaomen srariL(BEng|
(F) 2L wsmss SOl Lﬁlgeﬂ@a)g; 5srrezsmi1u®@1$ei)66>a)
The correct statement regarding Blue Green Algae is :
(@) Presence of floridean starch
(b) Lack of motile structures

(c) Presence of cellulose in cell wall

(d) Absence of mucilage around the thallus
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8.

10.

B
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lleng&ar, WETHSSHNTHET LHMID SMHEST Qestiufeneufiéd
2LUBSS Collss apdmes iy

(1) —100°C (<) —196°C (@) 196°C () —180°C
Seeds, pollen grains and embryos can be storedat __ temperature.

(a) —100°C (b) —196°C (c) 196°C (d -—180°C

& EEENG WwersdT LESMMIGD Sy s plal Crrédw aflamsuida
B mHSTD, Qerbelom( :

(=) ermiELlHEEGLD (<) <i@manLoudl 6l HEELD
(8) Ceuamwulel®BEED (F) Qe &Qemaliulig &G0

In an inflorescence where flowers are borne laterally in an acropetal succession the
position of the youngest floral bud shall be :

(a) Anywhere (b) Proximal
(c) Distal i (d) Intercalary
BLESST @enpuinm LGLL enLLTélan ~ar SpUill UL,

(<)) Sievangg e udmerer o M oraigeT

(<2p) EpHlavad eflevmbi@aser

(@) 2-wiblera AL

() e wirblaes g,rr@g@&e’rr

Anastral mitosis is the characteristic feature of : =
(a) All living organisms

(b) Lower animals

(c) Higher animals

(d) Higher plants
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11. smhCerr ST eTemiieu T 2 LgmeilH@ Si(masmbhs euane Heree auig Gl gyieirar
Gevsamar A@TH FRTLDHST.

(1) 1899 (<) 1896 (8) 1897 () 1898

In _ Camillo Golgi visualized a netlike reticulum of fibrils near the nucleus,
were named as Golgi bodies,

(@) 1899 (b) 1896 (¢ 1897 (d) 1898

12. Geusaloefl @swemoe; Gbss GO husHer LaTUTGSLD

(=1) Ypradl&EGas (3}) 0-GLGLE
(@) <evGrend () QererGans
Vexillary aestivation is characteristic of the family :

(a) Brassicaceae (b) Fabaceae

(c) Asteraceae (d) Solanaceae

13. GenrGuimssfevaod, LwmevGamlwur - ergm@ r(SH&EETL([H ?
(=) sarH@uri@, Qeablor
(<) QeaQwrl@®, Kealtwr{H
(@) QaaQur®, sarGEwri®
() sar®Owrl@®, mefclom
| Bryophyllum and Dioscorea are examples for :
(a) Cauline bud, foliar bud
(b) Foliar bud, apical bud

(c) Foliar bud, cauline bud

(d) Cauline bud, apical bud
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14 @0 wEHCUTALITD sreursdar ghapbigw GGrmErGand eranment&Eens

(a) 28 (b) 7 (c) 14 d 42
15. Q@alestimes sargd aurd@Gos shopuildnbs G G peal
BU g sstL@D Qurips), Qae Bribddr eiraGs Hasse el SieLObS)
Q@mEGWL ? e .
(1) ooGaTmD FVSmns GLPHEHEGLD.
(<=1) emsld CuopUpsHaibd oLCermub SHLDSSID QHEGLD-
(@) -LCarmuid GuaLpsHaid @b SDUDSSHLID GHEELD.
(F) &b ool Carmusans EWRHS(HSELD.
When a leaf trace extends from a vascular bundle in a dicot stem, what would be the
arrangement of vascular tissues in the veins of the leaf ?
(a) Phloem would encircle the xylem.
(b) Xylem would be on top and the phloem at the bottom.
(c) Phloem would be on top and the xylem at the bottom.
(d) Xylem would encircle the phloem.
LS - II/PART -1I -
GO : eTemeuGLenid ShDI QanmésenéE o welssab. eften eraim 24 -&(@
gevsigLiLne edlenLwaflése|i.
Note : Answer any six questions. Question Number 24 is compulsory.

16.

17.

14 erafled Digan HmapaT Haalan o drer GEITGLIGEHTD eramanilEms :
(1) 28 (<) 7 (@) 14 () 42

The haploid number of chromosome for an angiosperm is 14, the number of chromosome
In 1ts endosperm would be : ‘

6x2=12

< F&S LirdefUtiGeT eramre erarar ? UmsleflUbsarTed STalTmSEhsd

o GTLT@EWD CHTUSH ToTeug Qramamar (g,
What is Archaebacteria ? Name any two bacterial plant diseases.

LGy GLmQerre Gam Um @Ls &aDis.

State the protoplasm theory.
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Zr:r;ai ‘ggmﬁ]u@um@ eremLgl @b ' Caemeuwiran S’ eram Fané STTaRTLD

Why Curti : - .
y S stated transpiration as a “necessary evil” ? Give reason.

Cumeigmi - euenumissey b,

Define Bolting,.

gerlilummeT LimebLifayem i GTEIMIG) Greue ?

What is substrate phosphorylation 2 -

CQenrGuflwgdler Lwanser erCsanib rrg,wrsﬁé\'emm Gr@@aa_.

Write any four uses of herbarium.,

< A CUTEHALTDSEEEED HuCamamauibsEssnd Qe Guujare
gCaayd prenE Ceumurhsemer 6 (pgis.

Write any four differences between Gymnosperms and Angiosperms.

Geuft gpi@smgser ereueumn @ gndsmysaidnbs Capubsamar ?

How root climbers differ from stevmi climbers ?

FHUIL B STeuhi&a, o iyBfled euary Qugir ? e elaLeomu
afleurdlésa].

Can Mangrove trees grow in salt water ? Justify your answer.
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LGS - 111/ PART - III

GMIy sTemeuGenIDd Sum) eflersaens@ eflenweflGse b, edlanm erewr 33 -5
SLLmuwons éfeLwefléseyLb. 6x3=18

Note : Answer any six questions. Question Number 33 is compulscry.

25. (=) CusaGLrGsmbser erammma ereme ?
(=) <o DAQW (Fimbriae) eremmmed eremar ? erHSHEETLH H(HE.
(@) What are Magnetosomes ?

(b) What are fimbriae ? Give an example.

26. LGrriGLmevieed Lpd GHILy auenrs. Gogiib DASHE CUENSHENETS Fofl)S.

Write about protostele and its types.

27. Q@)ESLTET Greimme) Grevmen ?

What is Ikebana ?

28. (1) Geuflam LGHsemeTi) LILD uenhHE LTED @,
(<) Geufler LaTL&eT @)FanTiqenend Fnmis.
(a) Draw and label the parts of regions of root.

(b) Write any two characteristic feature of root system.

29. Spésea eueriélens LMHDL GUTGLSEEEES THSHSSTHEET 5.
(=) SICerm jdlevld (<) sflo jfled (@) pésser
(rF) Clevdigemaer (2.) wmBEICEUTHLser
(26r) SOEHOMUL(H&ET
Give examples for the following metabolites :
(a) Amino acid (b) Organic acid (c) Toxins

(d) Lectins () Drugs (f) Alkaloids
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0. &CrnG : .
30. GrmbwrGambler eenwlienn UL euenhg UTED GHES6|LD.

Draw the
str
ucture of chromosome and label its parts.

31. apLCOrlLrsa . . X
uréj‘lb@ i "?156” Hapeied epr CrrGerGurame wpmtd epL GrrumsLler

Write the rol i
e of Nitrosomonas and Nitrobacter during Nitrification process.

32. Slpmene 2 GTeTEnLoLiL] eTammired cremen ?

What is Kranz anatomy ?

33. Q&ed &}@Jrrélgg%aﬂsbr HleneaeT, STeurmhsSer HmILD eoii@aEeT, @aiqald &Cr
rdflwrs o dreremaiir ? o6 ellenL e efeurdléasaid.
State whether cellular respiration stages are similar in both plants and animals ? Justify
your answet. ‘ . _ T

L@ - IV/PART -1V

GOl : DTSS! aﬁ]asrrrésa;@ég@m aQenL_welEseyib. - 5x5=25

Note's ' Answer all e’ qibaionsidiat o f

34, (1) é]emm'_@l_rrrﬂwr QLiGaradlwm Lpeurﬂeirr LIGRTLIGEnET Sa@ERETDHEETTE

eSeuflsEayLd. gt -l 5 , e
- 2160608

godla ApTIGUIGLE®ET GTSIS.

a in technical terms.

(<) oL L8]

(a) Describe theﬂower of Clitoria ternate
‘ 5 ;

(b) Write the significance of Mitosis.
[ Hmuys / Turn over
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35.

36.

37.

(=) DNA -eflan Sienwlienu alleuflGse,Lb.
DIV60F

(@) @mefms@eons sray sanga @ramrd Hoe aaiésEL,
@Amadmstlon srey Caflar @rarLrd Heo® auaTT &S & @GLD
@en_Cuwiren Geumium’ g enerr 6T(LP&Is.

(@) Explain the structure of DNA. 1
| ~ OR

(b) Write the differences between secondary growth in Dicot stem and Dicot root.

(1) el CLrensaflen eurpailwied elleneTe|ser wWreme ?
S|6060F)
(<) Wemmavior fenge) euenywn WHNID GS6T WPSEWLSHUSMS CT(HSI5.
(a) Write the physiological effects of Cytokinin.
OR

(b) Explain plasmolysis and write its significance.

(1) C; sreurmaiseT wHmId C, greurmisaiien CaumurBsamer er(Lpsg)s.
VG

(<)) amanfldan auaTTLiL (e LILLD euanrhbgl eflaréEs.

‘(a) Write the differences between C; plants and C, plants.

OR

(b) Write an account on Hydroponics with its diagram.
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38. (@*)‘@G‘j@ﬂmguﬁlmm Qaeufer o araranlolienL feuflgaalLd.
3|00
(<) BEB6CaTeD 2 eniwid orppeufiuresdar QUi erarar 7 Sigled
B Qumib eflenanserer eeufésayid.
(a)  Explain the anatomy of Dicot Leat.
OR
(b)  What is the name of alternate way of glucose breakdown ? Explain the process
mvolved in it,

-00o0-
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